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Recruitment Competency Test

* The test contains 30 questions



1) What is the second letter of of the fourth month in the year?
Answer by ticking the correct answers

[ ]u
[ Ir
[ 1p
[ 1a
2)

Look at the numbers in the answer space. Select out every odd number
between 20 and 40 that can be divided exactly by 3.

842119332724314236115430

Answer by ticking the correct answers
[ 127
[ 133
[ 142
[ 121
[ 130

[ 124



3) Look at the answers in the answer block. Choose the answers that are more
than 10 and less than 20.

Answer by ticking the correct answers

[ 128

[ 17

[ 116

[ 112

[ 18

4)

Add 17 degrees and 30.223 minutes to 3 degrees and 45.788 minutes
[170 30.223° + 30 45.887 ]

Answer by ticking the correct answers

[ 121 degrees and 16 minutes and 11 seconds
[ 121 degrees and 16.110 minutes

[ ]20 degrees and 76 minutes and 11 seconds

[ ]20 degrees and 76.11 minutes



5)

A vessel longline sets 3000 hooks. You are required to monitor 25% of the
hooks. How many must you monitor?

Select the correct number from the list below.
Answer by ticking the correct answers

[ 1650

[ 1700

[ 1750

[ 1600

6)

What is the symbol for a Centimetre?

Answer by ticking the correct answers
[ Jcc
[ ]cm

[ 1Cm

[ ] c-meter



7)
“Traffic must......... at the red light.’

Look at the sentence above, do not fill in the missing word, but select the exact
opposite of this from the choice below.
Answer by ticking the correct answers

[ ]stop

[ ] hoot

[ 1go

[ ] wait

8) Write in the answer block the last three letters of the alphabet in their

correct sequence.
Write your answer below




9)

Divide 10000 by 100

Select correct answer

Answer by ticking the correct answers
[ 110

[ ] 10000

[ 11000

[ ]100

10) How many centimetres are there in a meter?
Answer by ticking the correct answers

[ ] 1000
[ 1100
[ 110
[ 1500

11) How many minutes are there in a ''degree''?
Answer by ticking the correct answers

[ 1360
[ 110
[ 1100

[ 160



12) A fish weighs 1.567 kg. What is its weight in grams (g)?
Answer by ticking the correct answers

[ 1000.1567 g

[ 11567 ¢

[ 1156.70 g

[ 11567 kg

13) a vessel tranships 8.54 tonnes of shark. What is the weight in kilograms

(kg) ?
Answer by ticking the correct answers

[ 18,540.00 kg

[ 10.000,854 kg

[ 1854 kg

[ 18,854,000.00 g

14)

Multiply 3579 by 1000
Select correct answer
Answer by ticking the correct answers
[ 13.579

[ 1357,900.00

[ 13,579,000.00

[ 1975300



15) How many grams are there in a kilogram?
Answer by ticking the correct answers

[ 1100

[ 11000

[ 110000

[ 1500

16)

Columbo / London / Paris

Above are the name of three cities. What is the second letter of the city with
the shortest name?

Answer by ticking the correct answers

[ In

17) How many hours are there in a day?
Answer by ticking the correct answers

[ 142
[ 112
[ 124

[ 136



18)
Below you will see the letters of the alphabet.

Select out the letter that comes just after P and also the second letter before
M.

ABCDEFGH

IJKLMNOP

QRSTUVWX YZ

Answer by ticking the correct answers
[ 1K

[ IR

[ 1P

[ 1Q

19)

Divide 7,654.00 by 1000 and round off to two (2) decimal places
Select correct answer.

Answer by ticking the correct answers
[ 17.70

[ 17.654

[ ]7.66

[ 17.65



20) What is the symbol for a Metre?
Answer by ticking the correct answers

[ ]mt
[ ] metre
[ 1m

[ 1M

21) How many degrees are there in a circle?
Answer by ticking the correct answers

[ 1360
[ 1420
[ 1300
[ 1100
22) What is the first letter of the of the name of the day that comes after

Tuesday?
Answer by ticking the correct answers

[ 1W
[ 1M
[ 1T

[ 1F



23)

Convert 0.99651 kilograms to grams and round off to two (2) decimal places
Select correct answer

Answer by ticking the correct answers

[ 1997 ¢

[ 1996.50 g

[ 199.65¢

[ 1996.51

24) How many degrees does the earth rotate in ''24-hours''?
Answer by ticking the correct answers

[ 1420
[ 124
[ 1360

[ 1240

25) Select the word that comes before the longest word in this sentence.
Answer by ticking the correct answers

[ ] this
[ ] comes
[ ]1in

[ ]the



26)

The word has been spelt backwards. Select the letter that would come just
before the second last letter if the word was written normally.

YTLIUG

Answer by ticking the correct answers
[ 1U

[ 1L

[ 1T

[ 11

27)

Add the total weight of the following samples and give the answer in
kilograms (kg)

500g+250g+750¢g

Answer by ticking the correct answers
[ 12.5kg

[ 11.5kg

[ 12.0kg

[ 11.0kg



28) If lead is lighter than wood, select the answer space the name of the capital
of the United Kingdom, but if the wood is lighter than the lead select the "' X"
instead.

Answer by ticking the correct answers

[ 1X
[ ] London

29) What is the symbol for a Kilogram?
Answer by ticking the correct answers

[ 1Kg

[ 1kg

[ ]Kil

[ ]t

30)

The sun has nearly set

Look at the above sentence:

if it contains more ''a'"'s than "'e''s select the answer ""SET"'; or if it contains

more ''e''s than "'a''s then select the word ""SUN"'.
Answer by ticking the correct answers

[ ] SUN

[ 1SET
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